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INTRODUCTION TO COMPUTER
Maximum Marks : 100

Attempt total six questions. Question No.1
(Objective type) is compulsory. From the
remaining questions attempt any five.

$el B: U B DT U i 1(awdfs
TepR @) JTFarf 81 99 g § 3 581 g @
& BT

In case of any doubt or dispute, the English
version question should be treated as final.

et ot ypR & Tog rear faag &t fRAfy §
SIS 97T & HeH &Y ifam T SR

PT.0.
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Choose the correct answer.
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(2)

FE IR B T B

1)

01GB memory is equal to
(a) 1024 byte

(b) 1024 mB

(¢} 1024 kB

(d) None of these

01GB #9Y g/ BT &
(31) 1024 q13€

(&) 1024 mB

(7) 1024 kB

(5) S X o TE

Which one is not a accessory of window
(a) Calculator

(b)y MS-word

(¢) Paint-brush

(d) Notepad

2 each
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= O plA-dt el & st 78 B
(37) eI
(q) T -98
(¥) Ure-w9T
(3) s
111) A file in word 1s known as:
(a) Program
(b) Text
(c) Graph

(d) Document

(31) WEm
(8) Ca=c
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iv) Inspreadsheet, formula entry start with sign:
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(4)

(a) %
(b) #
(c) =
(d) None of above

Te-ofic § BRI & PHand | frrg ormma & -

(31) %
(T) #
(%) =

() S A 913 8

Web Browser made by microsoft is:
(a) Internet explorer

(b) Yahoo

(c) Netscape Navigator

(d) Java

ISHIATTE BT 99 FTIoR 8 ;
(31) greve Tl

(@) ag

() ewby AdheR

() wman

Contd.....

wosauljuoadBammm/i:dizy



woa*auljuoadbimmm)i:dizy

wodauljuoadbirmmamn/:dizy

http://www.rgpvonline.com

(5)
2. a) Explain classification of computer.

HEER T FHIPROT DT FHSSY

b) Describe application of computer.

FYCR & IYIN Pl AR DA

3. Convert as directed:
o1 el 8 a9 gl
i) (89Bl=( )io
i) (101011), = (.. )6
1i1) (100.10),=( )y
v) (128)j0=( )y
V) (@IB)s=( )
vi) (101.11),=( )

18

4. Explain the difference between external and internal
DOS commands. Explain five internal and five external

DOS command with syntax.

18

DOS & IR U4 I8 IS 1 3a% THSIET| i
TR U q1get PAS DI Rircad Tk IHs=u)
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What do you understand by spreadsheet package?
Write down the application of this package. 12

Breefle A A1 T TR 2?2 29 Fbot B IR
foiRgu|

b) What do vou understand by conditional
formatting in MS-Excel? Explain. 6
MS-Excel § Teiec BRCT ¥ 7Y 791 993
27 Ry

6. a) Explaindifferent characteristics of database. 9
SICIEE B s Svaedfeeay o FHey)
b) Explain any two database model. 9
P Q1 STy Hisd Pl FHHATST
7. a) Explain different types of network with their
advantages and disadvantages. 12
Jead & 3w ueR! @ aw v gt & T
AR

b) What is home page and web page? Explain. 6

219 09 Ud 99 U1 a1 2 ? A9yl
$/2016/5132 Contd.....

wosauljuoadBammm/i:dizy



woa*auljuoadbimmm):dizy

wodauljuoadbir-mmamn/:dizy

http://www.rgpvonline.com

™

8. Write notes any two:
a) Searchengine
b) Window operating system

c) Network topology

forgl qr W fevuoft frRay)
) b g

g) fa=sr srofcT Rier
q) ead et

e e 8
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